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Assignment 

Specific Heat capacity 
Name: __________________ (       ) Class: ____  
Date: _______
Mark: _____
1
12 000 J of heat energy raises the temperature of a 2.0 kg block of ice from 10°C to  20°C. What is the specific heat capacity of the metal?

	A
	200 J/(kg°C)
	B
	300 J/(kg°C)
	

	C
	400 J/(kg°C)
	D
	600 J/(kg°C)
	(         )


2
Heat energy is supplied at the same rate to 100 g of paraffin and 100 g of water in similar containers. The temperature of the paraffin rises faster. This is because the paraffin

	A
	evaporates less readily than water.
	

	B
	has a smaller specific heat capacity than water.
	

	C
	is less dense than water.
	

	D
	Is more dense than water.
	(        )


3
It takes 2.0 minutes to raise the temperature of 1.7 kg of water by 40°C using 2.5 kW heater. Assuming there are no heat losses, how long would it takes to raise the temperature of 170 kg of water by 40°C using a 5.0 kW heater?
	A
	4 minutes
	B
	80 minutes
	

	C
	100 minutes
	D
	200 minutes
	(         )


4
The specific heat capacity of copper is 400 J/(kgK). A 2.0 kg mass of copper is heated for 40 s by a heater which produces 100J/s. What is the rise in temperature?

	A
	5 K
	B
	10 K
	

	C
	20 K
	D
	50 K
	(         )


 5
When a heater provided 2 000 J of energy to a liquid of mass 0.10 kg, the temperature rises by 5.0 K. What is the specific heat capacity of the liquid?

	A
	40 J/(kgK)
	B
	1000 J/(kgK)
	

	C
	4000 J/(kgK)
	D
	4200 J/(kgK)
	(         )


6
The masses and specific heats of some samples of liquids are shown in the table. 
	Sample
	Mass / kg
	Specific Heat Capacity, J / kg / K

	water
	0.750
	4200

	glycerin
	0.750
	2400

	methanol
	0.750
	2500

	cooking oil
	0.750
	2100


Which sample will have its temperature rise the most, when 1000 J of heat energy is added ?
	A
	cooking oil
	B
	glycerin
	

	C
	methanol
	D
	water
	(         )


7(a)
Calculate the quantity of heat required to heat the water for a bath if it involves raising the temperature of 80 kg of water by 30K if the specific heat capacity of water = 4200 J/kgK.

7(b)
How long would it take an electric heater rated at 4.0 kW to supply this quantity of energy?

8
An electric heating element immersed in a large container of water has a potential difference of 240 V applied across it. The current throught he element is 10.0 A.

In 80.0 s, the temperature of the container and water rises from 15.0°C to 65.0°C. Calculate the total heat capacity of the container and its content. Assume there is no heat lost from the container. [Heat supplied by the electric heater = VIt = (V2/R)t]

9
A gas burner is used to heat 0.50 kg of water in a beaker. The temperature of the water rises from 15.0°C to 60.0°C in 60 seconds. Calculate the average rate at which heat is transferred to the water.
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